Mod.Que Bio.059

Biology

Model Questions 2059

1. The branch of botany which deals with the form of the plant is called:




	(a)
	Morphology

	(
	(b)
	Physiology

	(

	(c)
	Taxonomy
	(
	(d)
	Cytology
	(


2. The plants which cannot manufacture their own food are called:

	(a)
	Halophytes
	(
	(b)
	Autophytes
	(

	(c)
	Epiphytes
	(
	(d)
	Heterophytes
	(


3. In osn osis, solvent flows from the solution of:

	(a)
	Higher concentration to lower concentration
	(
	(b)
	Lower concentration to higher concentration
	(

	(c)
	One cell to another cell
	(
	(d)
	None of above
	(


4. Photosynthesis is most active in:

	(a)
	Green light
	(
	(b)
	Red light
	(

	(c)
	Yellow light
	(
	(d)
	Sunlight
	(


5. The process of photosynthesis takes place in:

	(a)
	Roots only
	(
	(b)
	Shoots only
	(

	(c)
	All the cells of the plant
	(
	(d)
	Chlorophyll containing cells only
	(


6. Algal component of lichen is known as:

	(a)
	Symbiont
	(
	(b)
	Phycobiont
	(

	(c)
	Stem parasite
	(
	(d)
	None of these
	(


7. A bulk of nitrogen in nature is fixed by: 

	(a)
	Symbiotic bacteria
	(
	(b)
	Chemical industries
	(

	(c)
	Lightning
	(
	(d)
	Denitrifying bacteria
	(


8. A complete flower has:

	(a)
	Calyx and corolla
	(
	(b)
	Calyx, corolla and androecium
	(

	(c)
	Corolla, androecium and gynoecium
	(
	(d)
	Calyx, corolla, androecium and gynoecium
	(


9. When male and female flowers are found in separate plants, it is termed as:

	(a)
	Monoecious
	(
	(b)
	Dioecious
	(

	(c)
	Autoecious
	(
	(d)
	Heteroecious
	(


10. Pollination is defined as:

	(a)
	Germination of pollen grains
	(
	(b)
	Visiting of flowers by insects
	(

	(c)
	Transfer of pollen from anther to stigma
	(
	(d)
	Growth of pollen tube in ovule
	(


11. Pollination in Ficus is brought about by:

	(a)
	Anemophily
	(
	(b)
	Hydrophily
	(

	(c)
	Entomophily
	(
	(d)
	Dicliny
	(


12. Double fertilization means:

	(a)
	Fusion of eggs and pollen nucellus of two pollen nuclei
	(
	(b)
	Fusion of one male gamete with the egg and other with the secondary nucleus
	(

	(c)
	One male gamete with the egg and other with synergids
	(
	(d)
	Fusion of two eggs
	(


13. In plants meiosis occurs in:

	(a)
	Anther
	(
	(b)
	Root tip
	(

	(c)
	Cambium
	(
	(d)
	Pollen grain
	(


14 Edible part of a cauliflower is:

	(a)
	Carpels
	(
	(b)
	Fruit
	(

	(c)
	Inflorescence
	(
	(d)
	Leaves
	(


15.Growth is defined as:

	(a)
	Increase in size
	(
	(b)
	Increase in weight
	(

	(c)
	Change of shape
	(
	(d)
	Sometimes as growth promoters and sometimes as growth inhibitors
	(


16. Stunting of plants is caused by: 

	(a)
	High concentration of hormones
	(
	(b)
	Low concentration of hormones
	(

	(c)
	Both (a) and (b)
	(
	(d)
	None of the above
	(


17. Vitamins are necessary in our diet, and they play an important role in cellular metabolism because they are:

	(a)
	Source of energy
	(
	(b)
	Used to synthesize lipids
	(

	(c)
	A part of some enzyme
	(
	(d)
	Protective substances
	(


18. If the stem grows towards sunlight and root grows just opposite to the stem movement is known as:

	(a)
	 Positive phototropic movement
	(
	(b)
	Negative phototropic movement
	(

	(c)
	 Phototropic movement
	(
	(d)
	None of the above
	(


19. Which of the following connects a bone with another bone at joints:

	(a)
	 Tendon
	(
	(b)
	Ligament
	(

	(c)
	Cartilage
	(
	(d)
	None
	(


20 Storehouse of blood in the body:

	(a)
	Heart
	(
	(b)
	Liver
	(

	(c)
	Pancreas
	(
	(d)
	Spleen
	(


21 Structures such as nails, hooves, antlers, horns, and claws are derivatives of:

	(a)
	 Skin
	(
	(b)
	Bone
	(

	(c)
	Cartilage
	(
	(d)
	Muscle
	(


22. In man amount of blood is:

	(a)
	4% to 5%
	(
	(b)
	10% to 15%
	(

	(c)
	7% to 8%
	(
	(d)
	None of these
	(


23. The main difference between artery and vein is:

	(a)
	In artery muscular coat is thick
	(
	(b)
	In artery valves are absent
	(

	(c)
	In artery blood flow is jerky
	(
	(d)
	All the above
	(


24. Dental formula of man:

	(a)
	2123/2123 
	(
	(b)
	1023/1034
	(

	(c)
	 2315/1032
	(
	(d)
	2123/2103
	(


25. The largest gland in the body is:

	(a)
	Salivary gland
	(
	(b)
	Liver
	(

	(c)
	Pancreas
	(
	(d)
	Intestinal glands
	(


26. Heart patients are advised take:

	(a)
	Vanaspati ghee
	(
	(b)
	Linseed oil
	(

	(c)
	Sunflower oil
	(
	(d)
	 Butter
	(


27. This side of heart of man contains pure blood:

	(a)
	Left side
	(
	(b)
	Right side
	(

	(c)
	Anterior side
	(
	(d)
	Posterior side
	(


28. Biological marriage between these two is not advisable:

	(a)
	Rh+ boy and RH- girl
	(
	(b)
	 Rh+ boy and RH+ girl
	(

	(c)
	 Rh- boy and RH- girl
	(
	(d)
	 Rh- boy and RH+ girl
	(


29. Blood bank of the body is:

	(a)
	Heart
	(
	(b)
	Liver
	(

	(c)
	Bone marrow
	(
	(d)
	Spleen
	(


30. Which of the following statements is true:

	(a)
	All veins carry deoxygenated blood
	(
	(b)
	All arteries carry oxygenated blood
	(

	(c)
	All veins except one carry oxygenated blood
	(
	(d)
	All arteries except one artery oxygenated blood
	(


31. Which type of DNA is found in bacteria:

	(a)
	 Circular DNA
	(
	(b)
	Rectangular DNA
	(

	(c)
	Linear RNA
	(
	(d)
	Tetrahedral DNA
	(


32. Genes are found in which organelles:

	(a)
	 Mitochondria
	(
	(b)
	Golgi bodies and nucleus
	(

	(c)
	Centrioles and Vacuoles
	(
	(d)
	Chloroplast and mitochondria
	(


33. Similarity between DNA and RNA:

	(a)
	Both are acids
	(
	(b)
	Both are polymer of nucleotide
	(

	(c)
	Both
	(
	(d)
	None of these
	(


34. The term antibiotic was coined by:

	(a)
	Alexander Flemming
	(
	(b)
	Selman Waksman
	(

	(c)
	Louis Pasteur
	(
	(d)
	Edward Jenner
	(


35. The study of interaction between living organisms and environment is called:

	(a)
	Phytogeography
	(
	(b)
	Ecology
	(

	(c)
	Phytosociology
	(
	(d)
	Ecosystem
	(


36. The ability of organisms to cope with the environment is known as:

	(a)
	Adaptation
	(
	(b)
	Habitat
	(

	(c)
	Conservation
	(
	(d)
	Predation
	(


37. Anabiolism involves:

	(a)
	"Breakdown" reactions
	(
	(b)
	"Building-up" reactions
	(

	(c)
	Both (1) and (2)
	(
	(d)
	None of the above
	(


38. In what form the energy is used by living things:

	(a)
	Heat
	(
	(b)
	Chemical
	(

	(c)
	Solar
	(
	(d)
	Light
	(


39. Energy released during catabolic reaction is immediately stored in the form of:

	(a)
	DNA
	(
	(b)
	RNA
	(

	(c)
	ATP
	(
	(d)
	Glucose
	(


40.
The most important compounds for origin of life are:

	(a)
	Lipids
	(
	(b)
	Amino acids
	(

	(c)
	Enzymes
	(
	(d)
	Nucleotides
	(


41.
Which one of the following is the first oxygen producing organism:

	(a)
	Green plants
	(
	(b)
	Autotrophic cyanobacteria
	(

	(c)
	Autotrophic bacteria
	(
	(d)
	All the above
	(


42. All life on earth derives its energy, directly or indirectly from the sun except:

	(a)
	Pathogenic bacteria
	(
	(b)
	Mushrooms and moulds
	(

	(c)
	Chemosynthetic bacteria
	(
	(d)
	Symbiotic bacteria
	(


43.
The term anaerobic means:

	(a)
	Without oxygen
	(
	(b)
	With oxygen
	(

	(c)
	 Without glucose
	(
	(d)
	None of the above
	(


44. The smallest plant cell is:

	(a)
	Bacteria
	(
	(b)
	Virus
	(

	(c)
	Virions
	(
	(d)
	Mycoplasma
	(


45. Chromosomes are present in: 

	(a)
	Cytoplasm
	(
	(b)
	Chloroplast
	(

	(c)
	Nucleus
	(
	(d)
	Mitochondria
	(


46. The part of cytoplasm without any living organelle is called:

	(a)
	 Protoplast
	(
	(b)
	Tropoplasm
	(

	(c)
	Deutoplasm
	(
	(d)
	Chromoplasm
	(


47. The longest known cell is:

	(a)
	Human nerve cell 
	(
	(b)
	Virus
	(

	(c)
	Bacteria
	(
	(d)
	None
	(


48. Plant cell generally lacks:

	(a)
	Centrioles
	(
	(b)
	Endoplasmic reticulum
	(

	(c)
	Ribosomes
	(
	(d)
	All of the above
	(


49. The smallest organelle in a cell is:

	(a)
	Ribosome
	(
	(b)
	Lysosome
	(

	(c)
	Endoplasmic reticulum
	(
	(d)
	None of these
	(


50. Mitochondria are not found in: 

	(a)
	 Nerve cells
	(
	(b)
	Sperms
	(

	(c)
	Mature WBC
	(
	(d)
	Mature RBC
	(


51. Golgi body is found in:

	(a)
	Bacterial cell
	(
	(b)
	Nucleolus
	(

	(c)
	Nucleus
	(
	(d)
	Bibosomes
	(


52. Extra nuclear DNA is found in:

	(a)
	Ribosomes
	(
	(b)
	Chloroplast
	(

	(c)
	Endoplasmic reticulum
	(
	(d)
	Golgi apparatus
	(


53. Polysomes are:

	(a)
	Cell organelles in prokaryotes
	(
	(b)
	Cell organelles in eukaryotes
	(

	(c)
	Several ribosomes attached to a string of m RNA
	(
	(d)
	Aggregates of peroxisomes for respira-tion
	(


54. In animal cells, plasma membrane is elastic due to the presence of:

	(a)
	Fats
	(
	(b)
	Proteins
	(

	(c)
	Carbohydrates
	(
	(d)
	Lipids
	(


55. One micron is equal to:

	(a)
	 1/10 of a mm
	(
	(b)
	1/100 of a mm
	(

	(c)
	1/1000 of a mm
	(
	(d)
	1/10,000 of a mm
	(


56. Which organelle changes the chemical energy into utilizable energy?

	(a)
	Lysosome
	(
	(b)
	Microsome
	(

	(c)
	Endoplasmic reticulum
	(
	(d)
	Mitochondria
	(


57. E.R. is the center of:

	(a)
	 Excretion
	(
	(b)
	Digestion
	(

	(c)
	Fat synthesis
	(
	(d)
	Protein synthesis
	(


58. RNA is synthesized by DNA in:

	(a)
	Nucleus 
	(
	(b)
	Nucleolus
	(

	(c)
	Chromosome
	(
	(d)
	Enzyme
	(


59. Aerobic respiration is related with:

	(a)
	Plasma-membrane
	(
	(b)
	Golgi bodies
	(

	(c)
	Endoplasmic reticulum
	(
	(d)
	Mitochondria
	(


60. Hereditary characters are carried by:

	(a)
	Chromosomes
	(
	(b)
	Chloroplast
	(

	(c)
	Chromoplast
	(
	(d)
	Ribosomes
	(


61. Mitochondria are not found in:

	(a)
	Human red blood cells
	(
	(b)
	Human liver cell
	(

	(c)
	Human nerve cell
	(
	(d)
	Frog liver cell
	(


62. Two strands of DNA are attached by hydrogen bonds between:

	(a)
	A-T, G-C
	(
	(b)
	A-G, T-C
	(

	(c)
	A-C, G-T
	(
	(d)
	A-U, G-C
	(


63. Deficiency of vitamin A causes:

	(a)
	Malaria
	(
	(b)
	Beri-beri
	(

	(c)
	Scurvy
	(
	(d)
	Night blindness
	(


64. Glucose is stored as glycogen in:

	(a)
	Kidney
	(
	(b)
	Liver
	(

	(c)
	Pancreas
	(
	(d)
	Bone
	(


65.
Excretion means:

	(a)
	Removal of substances which have never been a part of body
	(
	(b)
	Removal of substances not required in body
	(

	(c)
	Formation of useful substances in the body
	(
	(d)
	All of these
	(


66. Malpighian tubules are excretory organs in:

	(a)
	Platyhelminthes
	(
	(b)
	Frog
	(

	(c)
	Pila
	(
	(d)
	Cockroach
	(


67. All are excretory cells except:

	(a)
	Chloragogen cells
	(
	(b)
	Organs of bojanus
	(

	(c)
	Keber's organs
	(
	(d)
	Peetas gland
	(


68. The Bowman's capsule is:

	(a)
	A part of uriniferous tubule and is the site of filteration of various blood constituents during the formation of urine
	(
	(b)
	A part of uriniferous tubule and is the site of reabsorption of water and glucose.
	(

	(c)
	Present in the liver and is the site of secretion of the bile juice
	(
	(d)
	Associated with liver and is the site of the storage of the bile juice
	(


69. Excretion of sugar in urine is called:

	(a)
	Diabetes insipidus
	(
	(b)
	Diabetes mellitus
	(

	(c)
	Hydrocoel
	(
	(d)
	Myxoedema
	(


70. The chemical formula of urea is :

	(a)
	(NH3)2
	(
	(b)
	CO2 NH2
	(

	(c)
	CO (NO2)2
	(
	(d)
	C5H4N4O3
	(


71. Which is a complete excretory organ:

	(a)
	Liver
	(
	(b)
	Lungs
	(

	(c)
	Malpighian corpuscles
	(
	(d)
	Kidney
	(


72. Colour of healthy human urine is due to:

	(a)
	Hb
	(
	(b)
	Bilirubin
	(

	(c)
	Urochrome
	(
	(d)
	Urocord
	(


73. The biceps muscles are attached to humerus by means of:

	(a)
	Ligament
	(
	(b)
	Fibrous connective tissue
	(

	(c)
	Ligament and tendons
	(
	(d)
	Tendons
	(


74.
The branch dealing with study of bones is: 

	(a)
	Ophiology
	(
	(b)
	Ornithology
	(

	(c)
	Osteology
	(
	(d)
	Ontogeny
	(


75.The type of joint between the human skull bones is:

	(a)
	Hinge joint
	(
	(b)
	Synovial joint
	(

	(c)
	Cartilaginous joint
	(
	(d)
	Fibrous joint
	(


76. Ligament is a structure which connects:

	(a)
	Bone to bone
	(
	(b)
	Muscles to bone
	(

	(c)
	Nerve to muscles
	(
	(d)
	Skin to muscles
	(


77. The basic unit of nervous system is:

	(a)
	Nephron
	(
	(b)
	Dendrite
	(

	(c)
	Neuron
	(
	(d)
	Nephroa and neuron
	(


78. Peripheral nervous system consists of:

	(a)
	Central nerves
	(
	(b)
	Cranial nerves
	(

	(c)
	Spinal nerves
	(
	(d)
	Cranial and spinal nerves
	(


79. Weight of human brain is about:

	(a)
	2.5 lbs
	(
	(b)
	3.5 lbs
	(

	(c)
	3.0 lbs
	(
	(d)
	4.0 lbs
	(


80. The vomiting center is situated in:

	(a)
	Cerebrum
	(
	(b)
	Cerebellum
	(

	(c)
	 Medulla
	(
	(d)
	Hypothalamus
	(


81. The highly vascular connective tissue layer of eye coat is:

	(a)
	Sclerotic
	(
	(b)
	Choroid
	(

	(c)
	Retina
	(
	(d)
	Eye ball
	(


82. In short sightedness the image is formed:

	(a)
	Before the lens
	(
	(b)
	At the lens
	(

	(c)
	On the retina 
	(
	(d)
	 After the lens in front of retina
	(


83. An organism grows when:

	(a)
	Catabolism outweighs anabolism
	(
	(b)
	Anabolism outweighs catabolism
	(

	(c)
	Anabolism and catabolism occurs at the same rate
	(
	(d)
	Anabolism and catabolism do not occur
	(


84. Regeneration in animals was first reported by:

	(a)
	T.H. Huxley
	(
	(b)
	A.G. Trembley
	(

	(c)
	T.H. Morgan
	(
	(d)
	T. Muller
	(


85. Approximate age of sexual maturity in human beings is:

	(a)
	10 – 14 years
	(
	(b)
	8 – 11 years
	(

	(c)
	10 – 13 years
	(
	(d)
	11 – 16 years
	(


86. A clone is represented by:

	(a)
	Offspring of the same parents
	(
	(b)
	Monozygotic twins having same genetic make up
	(

	(c)
	Individuals developed asexually form a single parents
	(
	(d)
	Both (2) and (3)
	(


87. To a person with blood group A.  Which one of the following group of blood can be given:

	(a)
	A
	(
	(b)
	O
	(

	(c)
	A, O
	(
	(d)
	AB
	(


88. Genes are located on the:

	(a)
	Chromosomes
	(
	(b)
	Nucleolus
	(

	(c)
	Nuclear membrane 
	(
	(d)
	Endoplasmic reticulum
	(


89. First work on Genetics was done by:

	(a)
	Lamarck
	(
	(b)
	Hugo de Vries
	(

	(c)
	Mendel
	(
	(d)
	Darwin
	(


90. The smallest unit of genetic material which when mutated produces a pheno-typic effect is:

	(a)
	Recon
	(
	(b)
	Muton
	(

	(c)
	Gene
	(
	(d)
	Nucleic acid
	(


91. The word chromosome was given by:

	(a)
	Johannsen
	(
	(b)
	Waldeyer
	(

	(c)
	Benda
	(
	(d)
	De Duve
	(


92. Jumping genes are also known as:

	(a)
	Transposon
	(
	(b)
	Transversion
	(

	(c)
	Transduction
	(
	(d)
	Transformatior
	(


93. DNA is mainly found in:

	(a)
	Cytoplasm only
	(
	(b)
	Nucleus and cytoplasm
	(

	(c)
	Nucleus only
	(
	(d)
	All of these
	(


94. RNA contains bases of:

	(a)
	2 kinds
	(
	(b)
	4 kinds
	(

	(c)
	5 kinds
	(
	(d)
	6 kinds
	(


95. DNA contains the bases:

	(a)
	Adenine and thymine only
	(
	(b)
	Adenine, thymine, guanine and cytosine
	(

	(c)
	Adenine, guanine, cytosine & uracil
	(
	(d)
	Adenine, thymine and guanine only
	(


96. Which of the following is found only in RNA and not in DNA:

	(a)
	Adenine
	(
	(b)
	Uracil
	(

	(c)
	Cytosine
	(
	(d)
	Guanine
	(


97. The term evolution means:

	(a)
	History of race
	(
	(b)
	Development of race
	(

	(c)
	Living thins are constantly changing
	(
	(d)
	Man has descended from apes
	(


98.
The term "Survival of fittest" was coined by:

	(a)
	Spencer
	(
	(b)
	Miller
	(

	(c)
	Haeckel
	(
	(d)
	Mendel
	(


99.
Which of the following classification is in proper sequence?

	(a)
	 phylum, class, order, family
	(
	(b)
	 phylum, order, class, family
	(

	(c)
	 kingdom, class, species, genus
	(
	(d)
	 class, order, species, genus
	(


100.Which of the following sequence is incorrect

	(a)
	 cell …. Tissue ……organ
	(
	(b)
	 gamete …… embryo …. Zygote
	(

	(c)
	green plants …. Herbivores … carnivores
	(
	(d)
	 phylum ……… class ……….. order
	(


101.Butterflies are seen everywhere.  To which group do they belong?

	(a)
	 protozoa
	(
	(b)
	 coelenterate
	(

	(c)
	 arthropods
	(
	(d)
	 anelida
	(


102.Pore bearing animals are kept under the phylum …

	(a)
	 protozoa
	(
	(b)
	 annelida
	(

	(c)
	 porifera
	(
	(d)
	 arthropoda
	(


103.Insects are recognized on the basis of number of legs.  How many pairs of legs the insects have?
	(a)
	 4
	(
	(b)
	2
	(

	(c)
	 3
	(
	(d)
	6
	(


104. Liverfluke is a parasite found in ……

	(a)
	 lungs
	(
	(b)
	 heart
	(

	(c)
	 blood
	(
	(d)
	 liver
	(


105.Which animal respires through gills?

	(a)
	 starfish
	(
	(b)
	 labeo
	(

	(c)
	 whale
	(
	(d)
	 snake
	(


106.A group of cell which similar in function and origin is called

	(a)
	 organ
	(
	(b)
	 tissue
	(

	(c)
	 muscle
	(
	(d)
	 system
	(


107.Hermaphrodite is a term is which

	(a)
	 male & female reproductive organs are present in a individual
	(
	(b)
	 only female reproductive organs are present in a individual
	(

	(c)
	 Only male reproductive organs are present in a individual
	(
	(d)
	Both male & female reproductive organs are absent 
	(


108.Which of the following carries oxygenated blood?

	(a)
	 vein
	(
	(b)
	 artery
	(

	(c)
	 lymph
	(
	(d)
	 nerve
	(


109.Which of the following is not a constituent of blood?

	(a)
	 monocots
	(
	(b)
	 erythrocyte
	(

	(c)
	 chondrocyte
	(
	(d)
	 lymphocyte
	(


110.Digestion is …

	(a)
	 conversion of large food particle into small
	(
	(b)
	Conservation of non diffusible food particles into diffusible food
	(

	(c)
	 Conservation of small food particle into large food particle
	(
	(d)
	Conversion of food into protoplasm
	(


111.Oxygen is transported by

	(a)
	 blood plasma
	(
	(b)
	 leucocytes
	(

	(c)
	 erythrocytes
	(
	(d)
	 thrombocytes
	(


112.Respiratory pigment in vertebrates is ….

	(a)
	 hemoglobin
	(
	(b)
	 haemocyanin
	(

	(c)
	 chlorocruorin
	(
	(d)
	 haemoerythrin
	(


113.Which animal transmits malaria diseases in man?

	(a)
	 
butterfly
	(
	(b)
	 housefly
	(

	(c)
	 mosquito
	(
	(d)
	 sand fly
	(


114.The theory of natural selection has been put forwarded by

	(a)
	 Lamark
	(
	(b)
	 Darwin
	(

	(c)
	 Aristotle
	(
	(d)
	 Mendel
	(


115.Which of the following group of plants lacks chlorophyll?

	(a)
	 algae
	(
	(b)
	 fungi
	(

	(c)
	 bryophytes
	(
	(d)
	 Pterydophytes
	(


116. A green plant makes its food by the process of

	(a)
	 respiration
	(
	(b)
	 transpiration
	(

	(c)
	 photosynthesis
	(
	(d)
	 osmosis
	(


117.Which organelle of the cell takes part in respiration

	(a)
	 cell wall
	(
	(b)
	 mitochondria
	(

	(c)
	 nucleus
	(
	(d)
	 nucleolus
	(


118.Wheat is a flowering plant which belongs to

	(a)
	 monocot
	(
	(b)
	 dicot
	(

	(c)
	 gymnosperm
	(
	(d)
	pteridophytes 
	(


119. Corolla is a part of

	(a)
	 flower
	(
	(b)
	 leaf
	(

	(c)
	 fruit
	(
	(d)
	 seed
	(


120.Which group of plants processes nitrogen-fixing bacteria

	(a)
	 cereal
	(
	(b)
	 legume
	(

	(c)
	 gymnosperms
	(
	(d)
	 dicot
	(


121.The term cell was coined by

	(a)
	 Robert Hook
	(
	(b)
	Newton 
	(

	(c)
	 Darwin
	(
	(d)
	 Mendel
	(


122.An animal cell can be differentiated from a plant cell by the presence of ….

	(a)
	 Endoplasm
	(
	(b)
	 mitochondria
	(

	(c)
	 ribosome
	(
	(d)
	 centriole
	(


123.The protoplasm contains water …..

	(a)
	 70%
	(
	(b)
	75% 
	(

	(c)
	 more than 75%
	(
	(d)
	less than 75% 
	(


124.Which of the following statement is true?

	(a)
	 mitosis is a reduction division
	(
	(b)
	 meiosis is a reduction division
	(

	(c)
	meiosis is not a reduction division      
	(
	(d)
	none of the above  
	(


125.DNA and RNA are the nucleic acids.  Which of the following is not in DNA?

	(a)
	  adenine
	(
	(b)
	 guanine
	(

	(c)
	  Uracil
	(
	(d)
	  thiamine
	(


126. In pond ecosystem, green plants are

	(a)
	  producers
	(
	(b)
	 primary consumers
	(

	(c)
	  primary carnivores
	(
	(d)
	  decomposers
	(


127.Which one is a medicinal plant

	(a)
	quercus glauca  
	(
	(b)
	 Rauwolfia serpentina
	(

	(c)
	  Alnus nepalensis
	(
	(d)
	  juglans regia
	(


128.The green house effect means….

	(a)
	the increase in CO2 content due to rise in global temperature  
	(
	(b)
	The increase in global temperature due to rise in CO2 content
	(

	(c)
	 The decrease in global temperature due to rise in CO2 content
	(
	(d)
	The decrease in CO2 content due to rise in global temperature  
	(


129.The ozone layer is being depleted by ……..

	(a)
	  
nitrogen
	(
	(b)
	 carbon monoxide
	(

	(c)
	  oxygen
	(
	(d)
	  hydrogen
	(


130.AIDS is a communicable disease.  It is caused by ….

	(a)
	  bacteria
	(
	(b)
	 virus
	(

	(c)
	  protozoa
	(
	(d)
	helminth  
	(


131.Physical basis of life is

	(a)
	  protoplasm
	(
	(b)
	 food
	(

	(c)
	  cell
	(
	(d)
	nucleus  
	(


132.The scope of Botany comprises

	(a)
	  the description of all plants
	(
	(b)
	 the study of uses of the plants
	(

	(c)
	  the study of all about plants
	(
	(d)
	  the classification of plants
	(


133.The branch of botany that deals with the study of algae is called

	(a)
	  phycology
	(
	(b)
	 ethnology
	(

	(c)
	  mycology
	(
	(d)
	bryology  
	(


134.Which of the study deals with the plants and environmental relationship?

	(a)
	  ecology
	(
	(b)
	 phytogeography
	(

	(c)
	  plant morphology
	(
	(d)
	  palaeobotany
	(


135.Mycology is the study of

	(a)
	algae
	(
	(b)
	 fungi
	(

	(c)
	bryophytes
	(
	(d)
	pteridophytes  
	(


136.Which one of the following carbohydrates is a monosaccharides

	(a)
	glucose
	(
	(b)
	 cellulose
	(

	(c)
	starch
	(
	(d)
	  sucrose
	(


137.Cellulose is

	(a)
	disaccharide
	(
	(b)
	 monosaccharide
	(

	(c)
	polysaccharide
	(
	(d)
	  lipid
	(


138.A nucleotide consists of

	(a)
	 Sugar – nitrogen base – phosphate group
	(
	(b)
	Sugar and phosphate group

 
	(

	(c)
	  Nitrogen base – phosphate group
	(
	(d)
	  Sugar and nitrogen base
	(


139.Adenine is a kind of

	(a)
	  nitrogen base (purine)
	(
	(b)
	fat 
	(

	(c)
	  carbohydrate
	(
	(d)
	  protein
	(


140.Purines are

	(a)
	  adenine and thymine
	(
	(b)
	 guanine and cytosine
	(

	(c)
	  thymine and cytosine
	(
	(d)
	guanine and adenine  
	(


141.Nucleic acids are found in

	(a)
	  nucleus
	(
	(b)
	 cytoplasm
	(

	(c)
	  both nucleus and cytoplasm
	(
	(d)
	nucleus and ribosomes  
	(


142.DNA molecule is composed of

	(a)
	 Pentose sugar, phosphoric acid, pyrimidines
	(
	(b)
	Pentose sugar, phosphoric acid, purines, pyrimidines
	(

	(c)
	 Pentose sugar, phosphoric acid, purines
	(
	(d)
	Pentose sugar, purines, pyrimidines
	(


143.Nucleic acid are composed of following elements

	(a)
	 C, H, O, N, P
	(
	(b)
	 C, H, N, P, Pb
	(

	(c)
	 C H, O, P, Pb
	(
	(d)
	   C, Fe, O, P, N
	(


144.RNA lacks

	(a)
	 Guanine
	(
	(b)
	 Thymine
	(

	(c)
	 Adenine
	(
	(d)
	 Cytosine
	(


145.Most lipids are esters of

	(a)
	 ethanol
	(
	(b)
	 glycerol
	(

	(c)
	 propane
	(
	(d)
	butanol   
	(


146.The branch which deals with the classification is

	(a)
	 physiology
	(
	(b)
	morphology 
	(

	(c)
	 taxonomy
	(
	(d)
	genetic   
	(


147.The cellular material outside the nucleus is called

	(a)
	 cytoplasm
	(
	(b)
	 nucleoplasm
	(

	(c)
	 protoplasm
	(
	(d)
	   karyoplasms
	(


148.Cytoplasm is a part of

	(a)
	 cell wall
	(
	(b)
	protoplasm 
	(

	(c)
	 nucleus
	(
	(d)
	plastids   
	(
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